
852- Light Pods easily bolt into face of Olympics’ Boa Bumpers, Rescue Winch Bumpers and Rock Bumpers. 
Can be installed on any model and year vehicle where there is a hole in the face of the bumper to accommodate the back of the fog light.

DO NOT TIGHTEN HARDWARE UNTIL ALL HARDWARE IS IN PLACE, OR INSTRUCTED TO DO SO.

852-Light Pods  
852-171    Gloss  Black
852-174    Texture Black 
Sold in Pairs. 
Bolts onto 2007 to current Wrangler JK Olympic  
front Boa Bumpers, Rescue Winch Bumpers and 
Rock Bumpers. Required to install factory Fog lights 
and a winch with Boa and Rescue Bumpers. 

Contents:
Two- Light Pods, consisting of :
2- Front Face Plates 
2- Light Housing Body
2- Wire Guards 
2- Rubber Grommets

Hardware:
8 - 8/32 X 1 1/4” Phillips Pan Machine Screws
8 - 8/32 X 3/4” Phillips Pan Machine Screws
16 - 8/32 Nylock Nuts
16 - 8/32 Jam Nuts
  4 - #14 Self Threading Tek Screws

Tools Required:
Small Phillips Head Screw Drive 
11/32 wrench, socket or small Crescent Wrench
3/8 Socket
1/4” Ratchet for Socket
 
Optional Tools:
Drill Motor and socket adapter to install 3/8 socket.

Step 1. 	 Place four of the 8/32  x 1 1/4” machine screws through the mounting holes in the Face Plate and screw on two of the 8/32 jam nuts to each screw.    
                	 Secure one jam nut to the face plate, leave the other jam nut about 3/4” to 7/8” from the interior surface of the face plate.
Step 2.	 Install the Rubber Grommet into the face plate. From the interior side of the face plate push and rotate the  fog light into the Light Grommet. Line up  
               	 the four mounting positions on the Fog Light with the four machine screws you installed on the face plate. You can adjust the jam nut as needed. 
                	 Place the 8/32 nylock Nut on the machine screw and secure the fog light. Now follow the same process and  assemble the other face plate.
                                                              DO NOT INSERT FOG LIGHT INTO LIGHT HOUSING BODY UNTIL  INSTRUCTED TO DO SO IN Step. 4:
Step 3. 	 Position the Light House body against the face of the Bumper lining up the existing mounting holes in the bumper and secure them in position using
                	 the 8/32 X 3/4 machine screws and nylock nuts.
Step 4. 	 Now, insert Face Plate  with Fog Light into the Light House Body. The face plate will butt up against the light housing. Position the light guards over 
                	 the light housing, lining up the mounting holes in the light guards with the holes on the sides of the light housing and insert  #14 self threading Tek 
                	 Screw. Fasten with ratchet and 3/8 socket, if you have a Socket adapter for use with a drill motor use it. 

Housing attached to Bumper. Inserting Fog Light into Faceplate. Faceplate hardware assembly. Light Guard shown installed.

Please contact Olympic at 800 777 0878 for any assistance needed.


